
 

Exercice : Equilibrer les équations bilan de réaction suivantes : 

(Les coefficients doivent être des nombres entiers) 

1) CH4 + 2 O2 -----> CO2 +  2H2O 

2) 2 C2H6 +  7 O2 -----> 4 CO2 + 6 H2O 

3) C3H8 + 5 O2 -----> 3 CO2 + 4 H2O 

4) 2  C4H10 + 13 O2 -----> 8 CO2 + 10 H2O 

5) C5H12 + 8 O2 -----> 5 CO2 + 6 H2O 

6) C2H6O + 3 O2 ----> 2 CO2 + 3 H2O 

7) C6H6O + 7 O2 ----> 6 CO2 + 3 H2O 

8) C6H12 + 9 O2 -----> 6 CO2 + 6 H2O 

9) C4H8 + 6 O2 -----> 4 CO2 + 4 H2O 

10) 2 C6H6  + 15 O2 -----> 12 CO2 + 6 H2O 

11)  2 C3H8O + 9 O2 -----> 6 CO2 + 8 H2O 

 


